Day 8 skipD7.notebook September 14, 2018

1. See next page 1-6 HW Answer Key

2. See next page @ GCF W ,/ ./ /

3. (x+3)(x%-3x+9)

4. (x-3)( x2+3x+9) (A 2L Terms

5. (2+x)( 4-2x+ x?) - DOTS .

6. (2-x)( 4+2x+ x2) - Sum/ % Codo2s-
7. (2x-1)(Ax2+2x+1) @ 2 Torms

8. 8)eD) o [

9. (5x-2)(3x+1) e a#]

10. (x?+1)(5x+2) Shg ¢ a= |

11, 4x2(x+1)(x-2) ?

12. 3a(3a+b)(3a-b) @ hH ferms

oy
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1. Justify that @’ + &' = (a+ )" - ab+ &) by simplifying the right side.
adth® = glat-abrpr)+h{at~abrb®)
ad+b? = o “orbakt 'l Tadt 1
o =ar+v

2. Provethat &' - & = (a- b)(d + ab+ &) by simplifyi

ng'rhe right side.
o3 -k = a(attqab+bt)-b(a mb*.fvlj

a*-b® = alHah faht Torh bt ~b3
Cij-bs =a-b3

Factor and check #s 3 and 6.
3 xe27 = r"}<+-3ﬂ f){l—-fpxi"qj
o =Y
hi

2 C%ffg b3y M)

=) E +6j.(+$~£)£ﬁ/f+1?
= XPR
4 i 27 = (X=3)(XF3x +a) Tk
o =f TX=3)(x 3% 49 )
b=

:XE"FZ}LP#;‘(; ;_“‘qx-"r:l?
=)=
5. 8+x° = (2 -q-#“](ﬂi-i)(*r-f)

chec L
=2, = A P ax )
91;j< (2+%) (f -5 tK7) ;%‘Et%‘.#*x}

=g

s

T
o 8 = (3mx XA FAXHX )

z check
a=r =@ AxTX ) &%{Lff;ﬂ-xlj
p =X = G+ 4K R X
= §-x
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Factor completely.

7. 8 -1 =(x— () F ML)
Q= =(AOD (A1)
=1

9. 15x-x-2 £=3Y 5‘—5—'-_&_
= |5y =l Sx—gh 2
3;4( -2 ) H(SX=)
= (5x=2@X+1)

11, 4ot - d4x? - Bx®

September 14, 2018

8 xt-dx-45 P45 5= -4
= ( X-4)(S) '-q,5

10, Bx® + Bx + 2% 2 2
= Sx(+1) Yo x )
= () (EX TR

12. 27a° - auI:F

=20(q a*-b%)
:j&( e b)(ﬂa—l{j}
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2018
Go to HW 1-7 and cross it out.
We are omitting notes and
homework for 1-7.
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1-8: Solve Quadratic Equations by Factoring

Vocabulary Tip: Functionshave ZefOS  orx-intercepts, while

equations have solutions or T‘OO'\‘S

We can find the roots of a quadratic equationin the form ax?+ bx + ¢ = 0 by factoring.
If ab=0, then what do you know abouta orb? Why?
@a=0 or b=o (or &h)
an ing mwlt by Zero €Q(.La(.$ > f&)
If (x)(3x-5)(2x-2)=0, what do youknow about the factors?
=D or 3Sx—=95 =O or - =D

Algebraic steps to solve (find the roots) of a quadratic equation:
1. Get one side equal to zero.
2. Factor

Set eachfactor equal to zero (T-chart)

Solve (checkif required)

Write the solution

;o

Example: Findtheroots of the equation 0 = -x? — 2x + 3 algebraically.

NORMAL FLOAT AUTO REAL RADIAN MP n =1 =l
= —3 2

0= x2 3% -3 ——
S= a -1
O=(X=ND(x+3 g3
)ﬂ‘l=o\ X+3=06
X=1 K= =3

721 g‘)'33
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Find the roots of the following equations by factoring.
P= -6

. x2-5x-6=0 ¢.-5 2. x2-8x=0
( X-GYx+)=0 -C& / %(X"@ =0
=0 x+ =0 X=06 \x—6==o
X=0 [ x=-( X=3
26, \% 71023
3. 25x2=9 4. 40x=8x2+50
25%x*—9 =O ~4ON -9
(5x+3A5%-3)=0 0= 8x>=4%0x +50
Bxt3=o [Sx-3=0 2>~ =
pa =106
5¢=3) 5x=3 O =9 -ol/o\y +25 oo
X= _S_ -—-? O — gxa_/a( -’/0)( 1_35_ -l.a)-)o

+ —
é - %% O = JXQx—'J)—S( &x—5>
0 = (ax-5)ax-5)

0= (ax-5>"
AX-5=0
AX=§
x= 5/

£ %3
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XUt o grapho “Same valur as  roots (Selufions),

Find the zeros of the fc(r'l?m\'}th%lmctimls by factoring. ot g Ga(on .
5. f(x)=x*-13x2+ 36 6. fiix)=x*-2x2-9x+ 18
o =x'-13x*+36 P=30 O 2&3-&)113'—‘%( #)Jj
O=(x=¢ 1=9) = 2 0= XTx-2) = 9(x-2)
6 = (=D 0 = (y-2)(x*=9)
*2=t \x-(—;l:o X370 |xt3=0 o= (7(’;) - 3D (x+ 3>
X=a ' X=2"'X=3 ! X=-3 X-2=6 [ x-3=0 ><+3>?o
£E2)*38 ol =3l xeg

€a,=33

7. What is the solutionof (x - 5)°0=0?

059—'0 <o, X—5=
(355
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If we know the zeros of a function we can work backward to write a rule for the function.

fix) = (x —z1)(x — zz) where z; and z> are the zeros of the function.
(You can also use the roots of an equation)

Fxample: A axa tbxtc
1. Writea quadratic function in standard form with zeros 2 and -1.

L0 = (=2 x+1)
) = X2 +x-axa
E&; x>-x —AX

2. Write a quadratic function in standard form with zeros 5 and -5.
£Q=(X-5)(x15)
+X)= X244 5¢ ~5x S
( 0 = x*-35




	Page 1: Sep 17-7:18 AM
	Page 2: Sep 1-4:23 PM
	Page 3: Sep 1-4:24 PM
	Page 4: Sep 14-3:51 PM
	Page 5: Aug 27-1:16 PM
	Page 6: Aug 13-2:20 PM
	Page 7: Aug 27-1:18 PM
	Page 8: Aug 27-1:21 PM

